MULTIPLICATION - Mental Maths Skills

http://www.learnersgrid.com

			Date:		Name:						
Copy each equation below into your books and solve. Show all your working.											
[1]	523	×	4 =	[2]	647	×	5 =	[3]	666	×	6 =
[4]	119	×	4 =	[5]	214	×	3 =	[6]	236	×	4 =
[7]	521	×	19 =	[8]	785	×	12 =	[9]	985	×	71 =
[10]	124	×	55 =	[11]	964	×	23 =	[12]	376	×	73 =
[13]	46	×	14 =	[14]	68 >	×	53 =	[15]	90	×	32 =
[16]	70 :	×	23 =	[17]	54 >	× 7	74 =	[18]	31	×	23 =
[19]	321	×	560 =	[20]	457	×	534 =	[21]	666	×	601 =

[22] 451 × 587 = [23] 474 × 526 = [24] 504 × 491 =

ANSWERS MULTIPLICATION - Mental Maths Skills

http://www.learnersgrid.com

Copy each equation below into your books and solve. Show all your working.

[1]			647 × 5 = 3,235	[3]	666 × 6 = 3,996
[4]	119 × 4 = 476	[5]	214 × 3 = 642	[6]	236 × 4 = 944
[7]	521 × 19 = <mark>9,899</mark>	[8]	785 × 12 = <mark>9,420</mark>	[9]	985 × 71 = 69,935
[10]	124 × 55 = 6,820		964 × 23 = 22,172		376 × 73 = 27,448
[13]	46 × 14 = 644		68 × 53 = 3,604		90 × 82 = 7,380
[16]	70 × 23 = 1,610		54 × 74 = 3,996		31 × 23 = 713
[19]			457 × 534 = 244,038		666 × 601 = 400,266
[22]	451 × 587 =	[23]	474 × 526 =	[24]	504 × 491 =

264,737

249,324

247,464